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Introduction 
Estate Master has put together this document to assist you with working through the different calculations that appear 
on the developer’s Summary report within the Estate Master DF (Development Feasibility) software 

The objective for this document is to break down any questions you may have regarding how Estate Master calculates 
each of the different sections within the Summary report itself. 

The Developers Summary report is broken up into three broad sections which we will investigate further. These are: 

1. Total revenue (Including sales and revenue) 
2. Total Project costs 
3. Performance Indicators: The performance indicators are commonly used to look at how the project is 

performing with critical business decisions often being made from the information provided by these different 
indicators. We have provided a summary of the different calculations below. 
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Summary Report - Performance Indicators 
1. Gross Development Profit 

This is calculated by subtracting a company's total expenses from total revenue, thus showing what the 
company has earned (or lost) in a given period of time. 

This output is only displayed on the Summary report if there are profit distributions payable to the land owner 
or lenders, otherwise on the Net Development Profit is displayed. 

Calculation 

  Formula Example 
Gross Development Profit = 1 Total Revenue 87,021,353 
  minus - 
 2 Total Costs 78,245,503 

   8,775,850 
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2. Net Development Profit 
Often referred to as also ‘net profit’, it is similar to ‘Gross Development Profit’ but also includes any profit share 
distributions. 

Calculation 

  Formula Example 
Net Development Profit = 1 Total Revenue 3,295,475,883 
  minus - 
 2 Total Costs 2,698,797,522 
  minus - 
 3 Profit Share 59,667,836 

   537,010,525 
 

 

  



 

6 

3. Development Margin 
Also known as the ‘Profit/Risk Factor’, it is commonly used by developers as a reflection of profitability and is 
the percentage return of net profit over development costs as a standard and common calculation.  
 
Estate Master however takes the developers margin one more step and provides five different methods for the 
margin calculation as shown below. 
 
Calculation 

There are 5 different methods for calculating the Development Margin on the Summary Report, set via the 
Preferences. 

 
 
In addition to these Preferences, the Development Margin is also impacted by the Preference to display 
Performance Indicators Before or After Profit Share is paid out (i.e. on Gross or Net Development Profit) 

 
 If ‘Based on Gross Development Profit’ is selected, then the numerator in the equation is the ‘Gross 

Development Profit’ output on the Summary sheet (only outputted if there are profit share 
distributions being paid) (item 1 below) 

 If ‘Based on Net Development Profit’ is selected, then the numerator in the equation is the ‘Net 
Development Profit’ output on the Summary sheet (item 2 below) 
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Preference 1 - On Total Development Costs (inc Selling and Leasing Costs) 

  Formula Example 
Development Margin = 1 Development Profit (Net or Gross) 11,647,832 
  Divided by / 
 2 ( Total Costs ( 76,116,245 
  minus - 
 3 Selling Costs (2,205,897) 
  minus - 
 4 Purchaser’s Costs 0 
  minus - 
 5 Outgoings & Vacancies 0 
  minus - 
 6 Letting Fees (1,298,424) 
  minus - 
 7 Incentives  (2,994,539) 
  minus - 
 8 Other Leasing Costs ) 0 ) 

   14.10% 
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Preference 2 - On Total Development Costs (inc Selling Costs) 

  Formula Example 

Development Margin = 1 Development Profit (Net or Gross) 11,647,832 

  Divided by / 

 2 ( Total Costs ( 76,116,245 

  minus - 

 3 Selling Costs (2,205,897) 

  minus - 

 4 Purchaser’s Costs 0 

  plus + 

  GST/VAT on Leasing Costs ) 271,039  ) 

   14.82% 

 

 Note: Since we are not factoring ‘Leasing Costs’ as part of Development Costs in this option, we need to 
exclude any GST/VAT Reclaim on Leasing Costs from the calculation of 'Total Costs'. This figure is not 
explicitly displayed on the Summary report. It can be calculated  manually by determining the GST/VAT that is 
reclaimable for items 5, 6,7 and 8 that make up Leasing Costs. 
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Preference 3 - On Total Development Costs (net of Selling and Leasing Costs) 

  Formula Example 

Development Margin = 1 Development Profit (Net or Gross) 11,647,832 

  Divided by / 

 2 ( Total Costs ( 76,116,245 

  plus + 

  GST/VAT on Selling Costs 200,536 

  plus + 

  GST/VAT on Leasing Costs ) 271,039 ) 

   15.21% 

 

 Note: Since we are not factoring ‘Selling Costs’ or ‘Leasing Costs’ as part of Development Costs in this 
option, we need to exclude any GST/VAT Reclaim on these from the calculation of 'Total Costs'. This figure is 
not explicitly displayed on the Summary report. It can be calculated  manually by determining the GST/VAT that 
is reclaimable for items 3,4, 5, 6,7 and 8 that make up Selling and Leasing Costs. 
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Preference 4 - On Total Revenue (net of Tax) 

  Formula Example 

Development Margin = 1 Development Profit (Net or Gross) 11,647,832 

  Divided by / 

 2 ( Total Sales Revenue ( 98,751,864 

  plus + 

 3 Rental Income 4,579,018 

  plus + 

 4 Interest Received 206,540 

  plus + 

 5 Other Income 0 

  plus + 

 6 Tax Paid on all Revenue ) (9,274,486) ) 

   12.36% 
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Preference 5 - On Total Sale Proceeds (net of Selling Costs) 

  Formula Example 

Development Margin = 1 Development Profit (Net or Gross) 11,647,832 

  Divided by / 

 2 ( Net Sales Proceeds ( 96,545,966 

  minus - 

  Tax Paid on Sales ) 8,977,442 ) 

   13.30% 

 

 Tax on Sales is not explicitly displayed on the Summary report. It can be calculated manually by 
determining the GST/VAT/Sales Tax that is reclaimable for all individual Sales Revenue items. 
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4. Residual Land Value (Based on % Development Margin) 
The Residual Land Value based on the Target Development Margin is the maximum price for the land that the 
developer would pay to make the calculated development margin equal the target hurdle rate. The target 
hurdle rate is essentially the developer’s required profit margin return for the project, also referred to as a 
‘Profit and Risk Factor’.  

The Development Margin has been the traditional method of development feasibility analysis in the past and is 
beneficial for short term projects. However it does have its shortcomings – it does not account for the time 
value of money and its results can be misleading for projects that extended beyond two or more years. Two 
projects may have the same net profit, but due to differences in the timing of cash inflows and outflows, one 
project may be realising its profit earlier than the other. Therefore, it you take into account the old adage “a 
bird in the hand is worth two in the bush”, then even though the projects have the same profit, a prudent 
developer/investor would chose the project that achieves its profit earlier. 

From the example below you can see that the Development Margin for the proposed development project is 
only achieving 14.10% based on an assumed Land Purchase Price of 13,750,000. In order to achieve the 
Target Development Margin of 25% the developer would need to purchase the land for a maximum residual 
land value of 8,921,282. 
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Calculation 

There is no specific formula that calculates the Residual Land Value. It is a result that is calculated through 
undertaking a ‘goal seek’ - the land price is manipulated up and down until the Development Margin matches 
the developer’s desired ‘Target Development Margin’. 

The ‘Target Development Margin’ is set on the Input sheet under ‘Hurdle Rates’ 

 

Even though the Residual Land Value calculation is not a formula, it can still be easily recreated and 
demonstrated using Estate Masters Goal Seek function. 

 

Once you have opened the Goal Seek function, set the following parameters: 
 Set Cell:  The Development Margin output on the Summary report 
 To Value: The Target Development Margin 
 By Changing Cell: The Land Purchase Price input on the Input sheet 

 

 

Once you press OK on the Goal Seek, it will then calculate an answer in the Land Purchase Price input on the 
Input sheet. 
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5. Net Present Value 
The Net Present Value (NPV) is the difference between the present value of cash inflows (revenue) and the 
present value of cash outflows (costs), discounted by a user-defined ‘Discount Rate’. 

NPV compares the value of a dollar today to the value of that same dollar in the future, taking inflation and 
returns into account. If the NPV of a prospective project is positive, it should be accepted. However, if NPV is 
negative, the project should probably be rejected because cash flows will also be negative. 

 

Calculation 

 The standard Excel function for NPV is used in Estate Master: 
 

NPV ( rate, value1, value2, ...) + value0 
 

Where: 
rate = is the rate of discount over the length of one period. 
Value0 = the first time period (period zero). The first time period in the cash flow is not discounted, 
and therefore is not added within the NPV function. It is simply added outside of the function. 
Value1, value2, ...= are the arguments representing the payments and income.  

 

The cash flow data that is used to calculate the NPV is also summarised in the ‘Project IRR & NPV’ section of 
the Cash Flow worksheet. 
 

 

There are 4 different methods for calculating the Net Present Value on the Summary Report, set via the 
Preferences. They relate to the specific cash flow that is used to calculate the NPV, most notably if it includes 
financing costs, interest and corporate tax. 
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In addition to these Preferences, the Net Present Value is also impacted by the Preference to convert the 
Discount Rate on either an Effective or Nominal Basis. This is required as the ‘Discount Rate’ that is entered by 
the user is an annual rate, however the cash flow that the NPV is calculated on can have monthly, quarterly or 
half-yearly rests, depending on how the user has decided to set the model up. 

 
 

  Formula Example 

‘per annum Nominal’  
D/T 18.00% / 12 = 1.5% per month 

 

    

‘per annum Effective’  
[(D + 1)1/T]-1 [(18.00% + 1)1/12]- 1= 1.39% per 

month 
 

Where: 
D = is the annual discount rate. 
T = The number of rest periods per annum (i.e Monthly = 12, Quarterly = 4, etc) 
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Preference 1 - On Cash Flow Excluding all Financing Costs, Interest and Corporate Tax 

  Formula 

NPV = 1 
NPV ( Discount Rate entered in Input sheet converted from annual to rest period 
rate 

  , 

 2 Time period 1 onwards for Net Cash Flow before Interest & Corporate Tax 

  plus 

 3 Time period 1 onwards for Financing Costs ) 

  plus 

 4 Time period 0 for Net Cash Flow (before Interest & Corporate Tax) 

  plus 

 5 Time period 0 for Financing Costs 

 

 
Note: The above Discount Rate needs to be converted from an annual rate, to a rate equivalent to the rest periods being 
used in the model, before it is used in the NPV function. 
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Preference 2 - On Cash Flow Including Financing Costs but Excluding Interest and Corporate Tax 

  Formula 

NPV = 1 
NPV ( Discount Rate entered in Input sheet converted from annual to rest period 
rate 

  , 

 2 Time period 1 onwards for Net Cash Flow before Interest & Corporate Tax 

  plus 

 3 Time period 1 onwards for  Application and Line Fees for Loans 1, 2, 3 and 4 ) 

  plus 

 4 Time period 0 for Net Cash Flow (before Interest & Corporate Tax) 

  plus 

 5 Time period 0 for Application and Line Fees for Loans 1, 2, 3 and 4 

 

 
Note: The above Discount Rate needs to be converted from an annual rate, to a rate equivalent to the rest periods being 
used in the model, before it is used in the NPV function. 
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Preference 3 - On Cash Flow Including Financing Costs and Interest but Excluding Corporate Tax 

  Formula 

NPV = 1 
NPV ( Discount Rate entered in Input sheet converted from annual to rest period 
rate 

  , 

 2 Time period 1 onwards for Net Cash Flow (after Interest & Corporate Tax) 

  plus 

 3 Time period 1 onwards for Corporate Tax ) 

  plus 

 4 Time period 0 for Net Cash Flow (after Interest & Corporate Tax) 

  plus 

 5 Time period 0 for Corporate Tax 

 

 
Note: The above Discount Rate needs to be converted from an annual rate, to a rate equivalent to the rest periods being 
used in the model, before it is used in the NPV function. 
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Preference 4 - On Cash Flow Including Financing Costs, Interest and Corporate Tax 

  Formula 

NPV = 1 
NPV ( Discount Rate entered in Input sheet converted from annual to rest period 
rate 

  , 

 2 Time period 1 onwards for Net Cash Flow (after Interest & Corporate Tax) ) 

  plus 

 4 Time period 0 for Net Cash Flow (after Interest & Corporate Tax) 

 

 
Note: The above Discount Rate needs to be converted from an annual rate, to a rate equivalent to the rest periods being 
used in the model, before it is used in the NPV function. 
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6. Benefit Cost Ratio 
The Benefit Cost Ratio (BCR) attempts to identify the relationship between the costs of a project and their 
benefits (revenues) on a current value basis. It is essentially the ratio between the present value of a projects 
costs and the present value of the projects revenues.  

A BCR below 1.0 infers that the project’s costs outweigh the project’s revenues, and therefore is deemed to be 
not feasible, whereas, a BCR above 1.0 infers that the project’s costs are less than the project’s revenues, and 
therefore is deemed to be feasible. 

 

The Benefit Cost Ratio is closely related to the NPV, just a different way of representing it. Essentially: 

 When the NPV = 0, the BCR = 1.0 

 When the NPV < 0, the BCR <1.0 

 When the NPV > 0, the BCR >1.0 

Calculation 

Basically, the Benefit Cost Ratio is the NPV of Revenue divided by the NPV of Costs 

Since the Benefit Cost Ratio is looking at the comparison between the present value of costs and revenues, the 
same Preferences are used when determining what cash flow data is used to calculate the output (i.e. whether 
Interest, Finance Costs and Corporate Tax are considered as ‘Costs’ in this calculation), and how the discount 
rate is converted from an annual rate to a rest period rate. 

 
 

  Formula 

BCR = 1 
( NPV ( Discount Rate entered in Input sheet converted from annual to rest period 
rate 

  , 

 2 Time period 1 onwards for Total Net Revenue ) 

  plus 

 3 Time period 0 for Total Net Revenue ) 

  divided by 

 1 
( NPV ( Discount Rate entered in Input sheet converted from annual to rest period 
rate 

  , 

  Time period 1 onwards for Costs ) 

  plus 

  Time period 0 for Costs ) 
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 Where ‘Costs’ = 

 If Preference 1 (Excluding all Financing Costs, Interest and Corporate Tax): 

o ‘Total Costs’ (4) minus ‘Financing Costs (exc Fees)’ (5) 

 If Preference 2 (Including Financing Costs but Excluding Interest and Corporate Tax):  

o ‘Total Costs’ (4) minus ‘Application and Line Fees for Loans 1, 2, 3 and 4’ (6) 

 If Preference 3 (Including Financing Costs and Interest but Excluding Corporate Tax): 

o ‘Total Costs’ (4) minus ‘Application and Line Fees for Loans 1, 2, 3 and 4’ (6) minus ‘Interest 
Charged/Received for Equity, Surplus Cash and Loans 1, 2, 3 and 4’ (7) 

 If Preference 4 (Preference 4 - On Cash Flow Including Financing Costs, Interest and Corporate Tax):  

o ‘Total Costs’ (4) minus ‘Application and Line Fees for Loans 1, 2, 3 and 4’ (6) minus ‘Interest 
Charged/Received for Equity, Surplus Cash and  Loans 1, 2, 3 and 4’ (7) plus ‘Corporate Tax’ (8) 

 

 
Note: The above Discount Rate needs to be converted from an annual rate, to a rate equivalent to the rest periods being 
used in the model, before it is used in the NPV function. 
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7. Project Internal Rate of Return 
The Internal Rate of Return (IRR) on an investment or project is the "annualised return rate" or "rate of return" 
that makes the net present value of all cash flows (both positive and negative) from a particular investment 
equal to zero. 

In more specific terms, the IRR of an investment is the discount rate at which the net present value of costs 
(negative cash flows) of the investment equals the net present value of the benefits (positive cash flows) of the 
investment.  

 

Calculation 

 The standard Excel function for IRR is used in Estate Master: 
 

IRR ( values, guess) 
 

Where: 
Values = is an array or a reference to cells that contain numbers for which you want to calculate the 
internal rate of return. 
Guess = a number that you guess is close to the result of IRR.  

 

The cash flow data that is used to calculate the IRR is also summarised in the ‘Project IRR & NPV’ section of 
the Cash Flow worksheet. 
 

 

There are 4 different methods for calculating the IRR on the Summary Report, set via the Preferences. They 
relate to the specific cash flow that is used to calculate the IRR, most notably if it includes financing costs, 
interest and corporate tax. 
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In addition to these Preferences, the IRR is also impacted by the Preference to convert the Discount Rate on 
either an Effective or Nominal basis. This is required as the initial IRR that is calculated using the Excel IRR 
function and the cash flow data is not necessarily always an annual rate – for example, if the user is running 
the model with monthly rest periods, then the initial IRR result would be a rate per month. Since IRR needs to 
be expressed as an annual rate, the answer provided by the Excel IRR function needs to be converted. 

 
 

  Formula Example 

‘per annum Nominal’  
D x T 1.5% per month x 12 = 18% p.a 

 

    

‘per annum Effective’  
[(D + 1)T]-1 [(1.5% per month + 1)12]- 1= 19.56% 

p.a 
 

Where: 
D = is the rest period (e.g monthly) IRR 
T = The number of rest periods per annum (i.e Monthly = 12, Quarterly = 4, etc) 
 

 

The Guess Rate is critical in the IRR function, as it uses an iterative technique for calculating it. Starting with 
the guess, the IRR function cycles through the calculation until the result is accurate within 0.00001 percent. If 
the IRR function can't find a result that works after 20 tries, the #NUM! error value is returned. 

The Guess Rate is set in the ‘Hurdle Rates’ section of the Input sheet. 
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Preference 1 - On Cash Flow Excluding all Financing Costs, Interest and Corporate Tax 

  Formula 

IRR = 1 IRR (Time period 0 onwards for  Net Cash Flow before Interest & Corporate Tax 

  plus 

 2 Time period 0 onwards for Financing Costs 

  , 

 3 
Nominate an estimate of IRR entered in Input sheet converted from annual to rest 
period rate ) 

   

  Convert answer to Annual Rate based on Nominal or Effective Preference 

  

 

  
Note: The above Guess Rate needs to be converted from an annual rate, to a rate equivalent to the rest periods being 
used in the model, before it is used in the IRR function. 
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Preference 2 - On Cash Flow Including Financing Costs but Excluding Interest and Corporate Tax 

  Formula 

IRR = 1 IRR (Time period 0 onwards for  Net Cash Flow before Interest & Corporate Tax 

  plus 

 2 Time period 0 onwards for  Application and Line Fees for Loans 1, 2, 3 and 4  

  , 

 3 Nominate an estimate of IRR entered in Input sheet converted from annual to rest 
period rate ) 

   

  Convert answer to Annual Rate based on Nominal or Effective Preference 

 

 

  
Note: The above Guess Rate needs to be converted from an annual rate, to a rate equivalent to the rest periods being 
used in the model, before it is used in the IRR function. 
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Preference 3 - On Cash Flow Including Financing Costs and Interest but Excluding Corporate Tax 

  Formula 

IRR = 1 IRR (Time period 0 onwards for  Net Cash Flow (after Interest & Corporate Tax) 

  plus 

 2 Time period 0 onwards for  Corporate Tax  

  , 

 3 Nominate an estimate of IRR entered in Input sheet converted from annual to rest 
period rate ) 

   

  Convert answer to Annual Rate based on Nominal or Effective Preference 

 

 

 
Note: The above Guess Rate needs to be converted from an annual rate, to a rate equivalent to the rest periods being 
used in the model, before it is used in the IRR function. 
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Preference 4 - On Cash Flow Including Financing Costs, Interest and Corporate Tax 

  Formula 

IRR = 1 IRR (Time period 0 onwards for  Net Cash Flow (after Interest & Corporate Tax)  

  , 

 2 Nominate an estimate of IRR entered in Input sheet converted from annual to rest 
period rate ) 

   

  Convert answer to Annual Rate based on Nominal or Effective Preference 

 

 

 
Note: The above Guess Rate needs to be converted from an annual rate, to a rate equivalent to the rest periods being 
used in the model, before it is used in the IRR function. 
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8. Residual Land Value (Based on % NPV) 
The Residual Land Value based on the NPV is the maximum price for the land that the developer would pay to 
make the calculated NPV equal zero or the calculated IRR equal the Discount Rate. The Discount Rate is 
essentially the developer’s required IRR for the project. 

Unlike the Development Margin, the NPV and IRR takes into account the dimension of time in its calculation 
and is used to differentiate projects of different cash flow exposures. It is more effective for longer term 
projects of more than 2 years, as it can be quite sensitive to small movements in time for short term projects. 
By adopting a suitable Discount Rate (Target IRR), the cash inflows and outflows are discounted to determine 
their present value and then added together to form a Net Present Value for ease of comparison between other 
projects of dissimilar timings. 

From the example below you can see that the IRR for the proposed development project is only achieving 
15.51% based on an assumed Land Purchase Price of 13,750,000. In order to achieve the Target IRR 
(Discount Rate) of 18% the developer would need to purchase the land for a maximum residual land value of 
10,377,909. 
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Calculation 

There is no specific formula that calculates the Residual Land Value. It is a result that is calculated through 
undertaking a ‘goal seek’ - the land price is manipulated up and down until the NPV equals zero and the IRR 
matches the developer’s desired ‘Target IRR’ (i.e Discount Rate). 

The Discount Rate is set on the Input sheet under ‘Hurdle Rates’ 

 

Even though the Residual Land Value calculation is not a formula, it can still be easily recreated and 
demonstrated using Estate Masters Goal Seek function. 

 

Once you have opened the Goal Seek function, set the following parameters: 
 Set Cell:  The NPV output on the Summary report 
 To Value: Zero 
 By Changing Cell: The Land Purchase Price input on the Input sheet 

 

 
Once you press OK on the Goal Seek, it will then calculate an answer in the Land Purchase Price input on the 
Input sheet. 
 



 

31 

9. Equity IRR 
The Equity IRR is different to the Project IRR, as it only looks at the rate of return on the equity contributions 
and repayments. 

 

Calculation 

 Similar to the Project IRR, the following pertains to the Equity IRR: 
 The standard Excel function for IRR is used in Estate Master for the Equity IRR calculation. 
 The Equity IRR is also impacted by the Preference to convert the Discount Rate on either an Effective 

or Nominal Basis. The initial Equity IRR that is calculated using the Excel IRR function and the cash 
flow data is not necessarily always an annual rate, and therefore needs to be converted on an 
Effective or Nominal basis. 

 A Guess Rate is required. 
 

  Formula 
Equity IRR = 1 IRR (Time period 0 onwards for  Equity Cash Flow 
  , 
 2 Nominate an estimate of IRR entered in Input sheet ) 
   
  Convert answer to Annual Rate based on Nominal or Effective Preference 

 

 

 
Note: The above Guess Rate needs to be converted from an annual rate, to a rate equivalent to the rest periods being 
used in the model, before it is used in the Equity IRR function. 
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10. Equity Contribution 
This is the total amount of Equity being contributed into the Project 

 

Calculation 

  Formula Example 
Equity Contribution = 

1 

Sum of all positive Equity Injections on 
CashFlow sheet 

5,500,000 
+ 

452,226 
+ 

452,604 
+ 

454,586 
+ 

309,702 
+ 

455,327 
+ 

178,371 
+ 

392,078 
+ 

54,310 
+ 

127,899 
+ 

61,568,499 

   69,945,602 
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11. Peak Debt Exposure 
This is where the project overdraft for all debt loans reaches its highest point. 

 

Calculation 

  Formula Example 
Peak Debt Exposure = 

1 

Largest Negative  Project Overdraft on 
CashFlow sheet, converted to a positive 
number 

MIN ( (67,833,974) 
, 

(67,890,551) 
, 

(68,187,893) 
, 

(68,187,893) 
, 

(68,299,049) ) * -1 
 

   68,299,049 
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12. Equity to Debt Ratio 
This is the proportion of equity being contributed to the project compared to debt. 

 

Calculation 

  Formula Example 
Equity to Debt Ratio = 1 Equity ‘Funds Invested’ 69,945,602 
  divided by / 
 2 Total Debt ‘Funds Invested’ 132,371,494 

   52.84% 
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13. Weighted Average Cost of Capital (WACC) 
The WACC is a calculation of a firm's cost of capital in which each category of capital (equity and debt) is 
proportionately weighted. 

 

Calculation 

  Formula Example 
WACC = 1 ( Equity ‘Funds Invested’ ( 70,924,966 
  divided by / 
 2 ( Total Debt ‘Funds Invested’ ( 132,668,186 
  plus + 
 1 Equity ‘Funds Invested’ ) 70,924,966 ) 
  multiplied by * 
 

3 
Developer's Cost of Equity on Input 
Sheet  ) 

35% ) 

  plus + 
 2 ( Total Debt ‘Funds Invested’  ( 132,668,186 
  divided by / 
 2 ( Total Debt ‘Funds Invested’ ( 132,668,186 
  plus + 
 1 Equity ‘Funds Invested’ ) 70,924,966 ) 
  multiplied by * 
 

4 
Total Debt ‘Weighted Average Interest 
Rate’ ) 

7.53% ) 

  multiplied by * 
 

5 
( 1 – Weighted Average Tax Rate on 
Financials Sheet )  

( 1 - 20% ) 

   16.12% 
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14. Breakeven Date for Cumulative Cash Flow 
This is where the Cumulative Cash Flow After Interest goes from being negative to zero/positive.  

If there are multiple occasions where this occurs in the project life, then the last time it occurs is reported. 

If the project does not make a profit (and hence does not break even at any point), this result will show “N.A” 

 

Calculation 

  Formula Example 
Breakeven Date for 
Cumulative Cash Flow = 

1 

The last period where Cumulative Cash 
Flow After Interest  on CashFlow  sheet 
goes from negative to zero or positive 

May-2011    (76,721,570) 
Jun-2011    (76,972,339) 
Jul-2011    (70,467,688) 

Aug-2011        9,074,862 

   Aug-2011 
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15. Yield on Costs 
Yield on cost is an investment's annual dividend (i.e rental income) divided by the original cost of the 
investment. 

If the project does not have any rental income, this result will show “N.A” 

Calculation 

  Formula Example 
Yield on Costs = 1 

Current Net Annual Rent on Tenants 
sheet 

7,396,700 

  Divided by / 
 2 ( Total Costs Before Tax Reclaimed  ( 83,448,387 
  minus - 
 3 Selling Costs (2,189,944) 
  minus - 
 4 Purchaser’s Costs ) 0 ) 

   8.64% 
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16. Rent Cover 
Rent Cover is the total Net Development Profit divided by the Current Net Annual Rental expressed as a 
number of years/months.  

If the project does not have any rental income, this result will show “N.A” 

Calculation 

  Formula Example 
Rent Cover = 1 Net Development Profit  8,775,850 
  Divided by / 
 

2 
Current Net Annual Rent on Tenants 
sheet 

 7,396,700 

   1.18 

 
 

This result is then formatted to express 
a time period of months/years (rounded 
down to the nearest month). 

1 Years and 2 Months 
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17. Profit Erosion 
Profit Erosion is the period of time post practical completion that the project can remain unsold (but leased out) 
until finance and land holding costs erodes the profit for the development to zero. 

If the project does not have any capitalised rental income, this result will show “N.A” 

Calculation 

  Formula 
Rent Cover = 1 Net Development Profit multiplied by -1 

  Divided by 
 

 
From the month the first Capitalised Sales is due to occur onwards, Sum of the 
following on the Cash Flow sheet…… 

  ( Maximum of the  
 2 Previous Month’s Gross Rental Income  
  plus 
 3 Previous Month’s Leasing Costs 
  plus 
 4 Previous Month’s Interest Received 
  or 
 5 Current Month’s Gross Rental Income  
  plus 
 6 Current Month’s Leasing Costs 
  plus 
 7 Current Month’s Interest Received ) 
  minus 
 8 Current Month’s Land Holding Costs 
  plus 
 9 Current Month’s ‘Application and Line Fees for Loans 1, 2, 3 and 4’ 
  plus 
 10 Current Month’s ‘Interest Charged for Equity and  Loans 1, 2, 3 and 4’ 
   
 

 
This result is then formatted to express a time period of months/years (rounded 
down to the nearest month). 
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